AP Calculus AR
Final Review
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Apply Rolle's Theorem
find all values of ¢ that
satisfy the theorem.
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A particle with velocity at

any fime 1 given by

v(t) = " moves in a straight

line. How far does the
particle move from

t=0tot=2?
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A particle moves along t
x-axis and is given by |
p(t) = e°" - 5. On what
interval(s) of 1 is the pa
moving to the left? '
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If£() = 3 - 3%,
~ what is the absolute
' _minimam\on the interval

[-1,3]?

! denme Yawe Thim
A e R L () O S
=3 (BY-3(2)"= 0
caicad Nodwes  FVX) = BX - Lex
3K 7 O

K-
X0 K7 o

KO (6)-g(0)* - \-L\\ Q‘
Sika C“ﬁ"ﬂiﬁ -Y L*

'Fmd the x-value of the pomT
on the graph of
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The velocity of a parhcl.
IS given by

v(t) = ( - 2)°cos2t.
What is the average
acceleration between
t = 1and t = 3.5 seconds:
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Tf ¢ is the number that
satisfies the conclusion of
the Mean Value Theorem for
f(x) = x* - 2x% on the
linterval 0=x<2, thenc = ?
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Find the particular solution,
y = f(x) when
dy/dx = 6x° + 6x + 2
and f(-1) = 2.
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The region bounded by

graph of y = 2x - x* and ﬂ*a
x-axis is the base of a SG;IdL
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section perpendicular to ¥
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' An object moves along the
e Y — 2
' x-axis with initial position u - q
x(0) = 2. The velocity of %—u\bu
the object is v(t) = sin(1rt/3) 1
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